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Q1. Fig 1 shows two resistors 3.0 Ω and 1.5 Ω connected in parallel and the combination is connected in series to a 4.0 Ω resistor and a 10 V emf device. The potential difference  Va - Vb is: (Ans: 2.0 V)
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Q#2 The Fig. 1 shows two resistors, each of the resistance R, connected to two ideal batteries of emf ε1 and ε2 (ε1> ε2). The potential difference Va – Vb is equal to ε1/5. What is the ratio ε2/ε1?( Ans: 3/5)

[image: image2.emf]
Q3. Three resistors and two batteries are connected as shown in Fig. 2. What is the potential difference Va – Vb? (Ans:  15 V)
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Q4. Determine the power dissipated by the 4.0 Ω resistor in the circuit shown in Fig. 3. (Ans:  16 W)
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Q5. If Va – Vb = 3.2 V, what is Vd – Vc shown in Figure 3 ? (Ans:  -9.6 V)
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Q6. The figure below shows 3 identical light bulbs connected to a battery. What happens to the power of light bulb 1 when the switch S is closed in Figure 4? (Ans: The power increases)
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Q7:  Find the potential difference (VB-VA) between points B and A of the circuit shown in figure (4) (Ans:- 10 volts)
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Figure 4










